Efficiency vs. dz (PV)

[_Efficiency (tracking eff factorized out) vs. dz (PV) ]

£0.02

e 12
5}

0.8

Efficiency (excl. trk

0.6

0.2

03 04 05 06
Cut on dz(PV) (cm)

0.4
0.2
o +B
2
©
o
. . . . . 0.95
0 0.1 02 0.3 04 05 0.6 0 0.1
Cut on dz(PV) (cm
= Corigmal_step. arpnaseT-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DQM_pixelCPETemplateCutChiSquareNew2_step2_ttbar-phasel-newgeom
[[Fake rat{ —— DOM_pixelCPETemplateCutChiSquareNew3_step2_ttbar-phasel-newgeom

0.2

03 04 05 0.6
Cut on dz(PV) (cm)

03 04 05 06
Cut on dz(PV) (cm)




	Contents
	Page 1


